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ALGEBRAIC EXPRESSIONS

lllustrations

1.Subtract: 2 — 3zy + Ty? — 2 from 6zy — 42> — 2 + 5

° Watch Video Solution

2, Subtract : 3 + 4y — 2z from the sum of

3+42+4+3y—x and 3z + 2y — 3z + 2.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_YXWRi8EJJWVI
https://dl.doubtnut.com/l/_CKn50H5FKg7D
https://dl.doubtnut.com/l/_UPjJJ6H341xq

3. Find the value of the expression for the given value of x.

2x — 4, when x=3.

° Watch Video Solution

4. Find the value of the expression for the given value of x.

522 + 3z — 2, when x= 2.

° Watch Video Solution

5. Find the value of the expression for the given value of x.

900 — 1023, when x= 4.

° Watch Video Solution

6. Find the value of the expression for the given value of x.

22 + 722 + 82 — 1,whenz = — 2.

.


https://dl.doubtnut.com/l/_UPjJJ6H341xq
https://dl.doubtnut.com/l/_Q56I9wk6GE1p
https://dl.doubtnut.com/l/_58iTUpw0pmZw
https://dl.doubtnut.com/l/_HD19zZ27cU2z

| ¥ vvatcn video solution

7.Find the value of the expressions,whena = — 1 and b= 3

a’® + b + 2ab

° Watch Video Solution

8. Find the value of the expressions,whena = — 1 and b =3

5a% + 4ab® — 8a’b.

° Watch Video Solution

9. Find the value of the
p= —3,gq= —1 and r =2

2p — 5q — 8 + 3r

expressions,

when

° Watch Video Solution



https://dl.doubtnut.com/l/_HD19zZ27cU2z
https://dl.doubtnut.com/l/_2WmA9LxhT122
https://dl.doubtnut.com/l/_yqtEmSjW5VzZ
https://dl.doubtnut.com/l/_cZE8H75BTtW3

10. Find the value of the expressions, when
p= —3,gq= —1 and r =2

4pg® + Tqr — 6pr

o Watch Video Solution

Solved Examples

1.Simplify : 4k — 3k* — 5k + 6

° Watch Video Solution

. 4c?
2. Find the value of 5 25.When c=9.

° Watch Video Solution

3. Find the value of 3a + 2bc — 3d?, given that a=5,b=4,c=3 and d =2.



https://dl.doubtnut.com/l/_KB8v5qgjnnl0
https://dl.doubtnut.com/l/_nDIFALobwCZv
https://dl.doubtnut.com/l/_u2lKiIhrgVju
https://dl.doubtnut.com/l/_S41fHzOrJPjb

| ° Watch Video Solution

4. The length of rectangle is three times its breadth. If the perimeter of
the rectangle is 96 metres, then find the length and breadth of the

rectangle.

° Watch Video Solution

5. Subtract the sum of 10m — 8n + 6p*and — 7m — 4n + 12p® from the

sum 2m — 4n + 6p*andm — 8n + 12p°.

° Watch Video Solution

6.IfA=3a-2b,B=-2a+3band C=-a-b,then find A+ B +C.

° Watch Video Solution



https://dl.doubtnut.com/l/_S41fHzOrJPjb
https://dl.doubtnut.com/l/_QlFDgHUcUYU6
https://dl.doubtnut.com/l/_yKI8XSExNH0y
https://dl.doubtnut.com/l/_W655ozAmfNSb

7.What should be added to 2 + zy + y® to obtain 42> + 8zy?

° Watch Video Solution

8. Subtract the sum of 7z? — 4y> and 4xz? + 3zy — 4y® from the sum

of 52% — 3zy — y’and 2 + 2zy — 2>

° Watch Video Solution

9. Find the sum of the expressions:

z + zy® + y + ax?, 2ax? — 2y + 3z, — Sxy? — ax? — 2y, — 5z + 3y — 2a

° Watch Video Solution

10. Identify like terms in the following:

—zly, — 4y’x, Ty, 227y, 3y, — 4y, — 100y, 12zy, 10zy?, — 6y°z?, dyz,


https://dl.doubtnut.com/l/_V9ZRDNQA3BkP
https://dl.doubtnut.com/l/_fTBnIRr1RFhH
https://dl.doubtnut.com/l/_SqZNSOYXvVQH
https://dl.doubtnut.com/l/_I0rJOwiwIj90

° Watch Video Solution

1. Identify like terms in the following:

4ab, Ta, 8b, — 3a%b?, — 4ba, — 50b, — 75, 15b%a>, — 7a?, 45, 150a, 70ba, 1l

° Watch Video Solution

12. Classify into monomials, binomials and trinomials:

3x - 5y.

° Watch Video Solution

13. Classify into monomials, binomials and trinomials:

.’122

° Watch Video Solution



https://dl.doubtnut.com/l/_I0rJOwiwIj90
https://dl.doubtnut.com/l/_36JvNhz8eXD3
https://dl.doubtnut.com/l/_9tEBESxEusRg
https://dl.doubtnut.com/l/_C8H5PJLQGfEA

14. Classify into monomials, binomials and trinomials:

a+b-ab

° Watch Video Solution

15. Classify into monomials, binomials and trinomials:

50

° Watch Video Solution

16. Classify into monomials, binomials and trinomials:

2¢2 + y(2) — zy

° Watch Video Solution



https://dl.doubtnut.com/l/_C8H5PJLQGfEA
https://dl.doubtnut.com/l/_ozbJd09UwgAN
https://dl.doubtnut.com/l/_6ggyoOgA2zU9
https://dl.doubtnut.com/l/_S5D2UZdc9hHp

17.The length of a rectangle is 6 m more than its breadth. The perimeter

of the rectangle is 60 m. Find the length and breadth of the rectangle.

° Watch Video Solution

18. The perimeter of a rectangle is 36 m. Its length is 2 m greater than its

breadth. Find its length and breadth.

° Watch Video Solution

19. Write each of the following statements in equation:

A number x increased by 5 equals 12.

° Watch Video Solution

20. Write each of the following statements in equation:

Thrice a number x decreased by 5 is equal to 27.

| e |


https://dl.doubtnut.com/l/_OAlfQF7EcIT1
https://dl.doubtnut.com/l/_KbAFVpnET22z
https://dl.doubtnut.com/l/_3R6GUdtw7Yhr
https://dl.doubtnut.com/l/_ClqvDG6j0sPm

| & Watch Video Solution

21. Write each of the following statements in equation:

20 decreased by a number x is equal to 15

o Watch Video Solution

22.Subtract 52% — 3zy + 2y*from Tz? — bzy — 8y°.

o Watch Video Solution

23.Find the number of dots in the pattern 143 of the following pattern.

- & L ] L ] ] -
L2 - L] L] L ] L ] L] * B — - - — — - =
L L ] L ] k] L ] L

o Watch Video Solution



https://dl.doubtnut.com/l/_ClqvDG6j0sPm
https://dl.doubtnut.com/l/_YewwsCalrvSG
https://dl.doubtnut.com/l/_sW2EDDvZQ3X5
https://dl.doubtnut.com/l/_ZpibJH8O0C1e

24. Priya borrowed Rs 2000 for t years at the rate of r% p.a. If interest is
calculated as simple interest, then find the algebraic expression to find

amount.

o Watch Video Solution

25. When a = 2, b = -1, ¢ = 0, find the value of expression

2a%b + 2ab® + 2abe.

o Watch Video Solution

26. Find the value of 164 + 24a + 9 when a = 9.

o Watch Video Solution

Ncert Section Exercise 111



https://dl.doubtnut.com/l/_WuwcWCYnMRBa
https://dl.doubtnut.com/l/_i4aUxKP2d4uJ
https://dl.doubtnut.com/l/_hQL1bOziahUc

1. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

o Watch Video Solution

2. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

o Watch Video Solution

3. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product


https://dl.doubtnut.com/l/_ZjHLbuddm6K6
https://dl.doubtnut.com/l/_xK2OOE4GURtf
https://dl.doubtnut.com/l/_ruucWyqwpGRU

° Watch Video Solution

4. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

° Watch Video Solution

5. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

° Watch Video Solution

6. Get the algebraic expressions in the following cases using variables,

constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-


https://dl.doubtnut.com/l/_ruucWyqwpGRU
https://dl.doubtnut.com/l/_k4IO3Wn1Eqqb
https://dl.doubtnut.com/l/_oHbbrrjkU46O
https://dl.doubtnut.com/l/_KmzqSsSPVtps

half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

o Watch Video Solution

7. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

o Watch Video Solution

8. Get the algebraic expressions in the following cases using variables,
constants and arithmetic operations. (i) Subtraction of z from y. (ii) One-
half of the sum of numbers x and y. (iii) The number z multiplied by itself.

(iv) One-fourth of the product

o Watch Video Solution



https://dl.doubtnut.com/l/_KmzqSsSPVtps
https://dl.doubtnut.com/l/_pox3yuIsuyFD
https://dl.doubtnut.com/l/_DcExnnxxzFDh
https://dl.doubtnut.com/l/_tL2cOQxyew8z

9. (i) Identify the terms and their factors in the following expressions

Show the terms and factors by tree diagrams. (a) Fh-\rm{ }}30

Watch Video Solution

10. (i) Identify the terms and their factors in the following expressions Show

the terms and factors by tree diagrams. (a) hx-{\rm{ }}30

Watch Video Solution

11. (i) Identify the terms and their factors in the following expressions Show

the terms and factors by tree diagrams. (a) “x—f\rm{ }}30

Watch Video Solution

12. (i) Identify the terms and their factors in the following expressions Show

the terms and factors by tree diagrams. (a) Fx-{\rm{ }}30

Watch Video Solution


https://dl.doubtnut.com/l/_tL2cOQxyew8z
https://dl.doubtnut.com/l/_t2jxY8O1WowY
https://dl.doubtnut.com/l/_eGIDJvaP2P37
https://dl.doubtnut.com/l/_NRdWAqsRHiyW

13. Identify the terms and their factors in the following expressions. Show
the terms and factors by tree diagrams.

—ab + 2b* — 3a?

° Watch Video Solution

14. Identify terms and factors in the expressions given below:

—4x + 5

° Watch Video Solution

15. Identify terms and factors in the expressions given below:

—4z 4 by

° Watch Video Solution



https://dl.doubtnut.com/l/_mGP1yXjj9QQl
https://dl.doubtnut.com/l/_bKZPOzBPqRCF
https://dl.doubtnut.com/l/_9AQCXHVNDn0w

16. Identify terms and factors in the expressions given below:

5y + 3y°

° Watch Video Solution

17. Identify terms and factors in the expressions given below:

xy + 2m2y2

° Watch Video Solution

18. Identify terms and factors in the expressions given below:

Pq+q

° Watch Video Solution

19. Identify terms and factors in the expressions given below:

1.2ab — 2.4b + 3.6a



https://dl.doubtnut.com/l/_IudtHSS2Q3RG
https://dl.doubtnut.com/l/_G0ERHR0zHAOH
https://dl.doubtnut.com/l/_JTeSlM3Hs7dM
https://dl.doubtnut.com/l/_FvErqwihq4zm

I & Watch Video Solution

20. Identify terms and factors in the expressions given below:

3 1
1277

° Watch Video Solution

21. Identify terms and factors in the expressions given below:

0.1p* + 0.2¢*

° Watch Video Solution

22. |dentify the numerical coefficients of terms (other than constants) in the

following expressions: (i) Q5{\rm{ B-{\rm{ }}3{t’\2}°

Watch Video Solution


https://dl.doubtnut.com/l/_FvErqwihq4zm
https://dl.doubtnut.com/l/_xiUFWoancklx
https://dl.doubtnut.com/l/_D4OrYLG3jF0l
https://dl.doubtnut.com/l/_pDKtlowfMiqq

23. |dentify the numerical coefficients of terms (other than constants) in the

following expressions: (i) l"":'5{\rm{ B-{\rm{ }}3{t"2}°

Watch Video Solution

24.|dentify the numerical coefficients of terms (other than constants) in the

following expressions: (i) l""":'5{\rm{ B-{\rm{ }}3{t"2}°

Watch Video Solution

25. Identify the numerical coefficients of terms (other than constants) in the

following expressions: (i) l""':'5{\rm{ B-{\rm{ }}3{t"2}°

Watch Video Solution

26. Identify the numerical cofficients of terms (other than constants) in the

following expressions:

—p*¢* + Tpq

o Watch Video Solution



https://dl.doubtnut.com/l/_xVEEJvFeQEd8
https://dl.doubtnut.com/l/_TZRnRU8IBUbT
https://dl.doubtnut.com/l/_1k142iiUvZox
https://dl.doubtnut.com/l/_TtjPL7JUTLNH

27. Identify the numerical cofficients of terms (other than constants) in the
following expressions:

1.2a + 0.8b

° Watch Video Solution

28. |dentify the numerical cofficients of terms (other than constants) in the
following expressions:

3.14r2

° Watch Video Solution

29. Identify the numerical cofficients of terms (other than constants) in the
following expressions:

2(1 + b)

° Watch Video Solution



https://dl.doubtnut.com/l/_5RIArA4Jhhm1
https://dl.doubtnut.com/l/_LQRV3qYooNKU
https://dl.doubtnut.com/l/_sV1cnGQqgvvi
https://dl.doubtnut.com/l/_WkjcO0LE8aej

30. Identify the numerical cofficients of terms (other than constants) in the
following expressions:

0.1y + 0.01y>

° Watch Video Solution

31. (a) Identify terms which contain x and give the coefficient of x. (i)

Q{y’\2}x +y

° Watch Video Solution

32. (a) Identify terms which contain x and give the coefficient of x. (i)

Q{y’\2}x +y

° Watch Video Solution

33. (a) Identify terms which contain x and give the coefficient of x. (i)

Q{y’\2}x +y


https://dl.doubtnut.com/l/_WkjcO0LE8aej
https://dl.doubtnut.com/l/_smzG7dn4OY5B
https://dl.doubtnut.com/l/_4VuHNMBrkn6p
https://dl.doubtnut.com/l/_mljvggXs50Ph

° Watch Video Solution

34. Identify terms which contains x and give the coefficient of x.

54+ z+ zx

° Watch Video Solution

35. Identify terms which contains x and give the coefficient of x.

l1+z+zy

° Watch Video Solution

36. Identify terms which contains x and give the coefficient of x.

12zy* + 25

° Watch Video Solution



https://dl.doubtnut.com/l/_mljvggXs50Ph
https://dl.doubtnut.com/l/_LfboH6ZqRuo4
https://dl.doubtnut.com/l/_kr7s0XUYateC
https://dl.doubtnut.com/l/_6GcG5xhrtYf3

37. ldentify terms which contains x and give the coefficient of x.

Tx + zy?

° Watch Video Solution

38. Identify terms which contains y? and give the cofficient of y?.

8—ar:y2

° Watch Video Solution

39. Identify terms which contains y? and give the cofficient of y.

5y° + Tz

° Watch Video Solution

40. Identify terms which contains 3 and give the cofficient of 3/°.

2z2y — 15zy® + Ty?



https://dl.doubtnut.com/l/_PyJSbc3JCVNp
https://dl.doubtnut.com/l/_IdHM1knck5wU
https://dl.doubtnut.com/l/_xICiBLnOT7Yo
https://dl.doubtnut.com/l/_nK4PPDWla6xG

| & Watch Video Solution

41. Classify into monomials, binomials and trinomials.

dy — Tz

o Watch Video Solution

42. Classify into monomials, binomials and trinomials.

y2

o Watch Video Solution

43. Classify into monomials, binomials and trinomials.

r+y—2xy

o Watch Video Solution



https://dl.doubtnut.com/l/_nK4PPDWla6xG
https://dl.doubtnut.com/l/_SJ9dZZT3AI97
https://dl.doubtnut.com/l/_BUTMUedHHvCN
https://dl.doubtnut.com/l/_TQNYhc3rBd7Z

44, Classify into monomials, binomials and trinomials.

100

o Watch Video Solution

45, Classify into monomials, binomials and trinomials.

ab—a—0>

o Watch Video Solution

46. Classify into monomials, binomials and trinomials.

5— 3t

o Watch Video Solution

47. Classify into monomials, binomials and trinomials.

4p*q — 4pg®



https://dl.doubtnut.com/l/_4CFpBTlv4srF
https://dl.doubtnut.com/l/_lEithbDKP0tz
https://dl.doubtnut.com/l/_V1TLSjlDLI3e
https://dl.doubtnut.com/l/_frDN8BTmSVQE

| &J Watch Video Solution

48. Classify into monomials, binomials and trinomials.

mn

o Watch Video Solution

49. Classify into monomials, binomials and trinomials.

2 —32+8

o Watch Video Solution

50. Classify into monomials, binomials and trinomials.

a’® + b

o Watch Video Solution



https://dl.doubtnut.com/l/_frDN8BTmSVQE
https://dl.doubtnut.com/l/_eCAnje7gIvqE
https://dl.doubtnut.com/l/_JAVRNuiR4wzb
https://dl.doubtnut.com/l/_0cxRWswFUEY3

51. Classify into monomials, binomials and trinomials.

z2—l—z

° Watch Video Solution

52. Classify into monomials, binomials and trinomials.

1—|—ac—|—a:2

° Watch Video Solution

53. State whether a given pair of terms is of like or unlike terms.

1, 100

° Watch Video Solution

54. State whether a given pair of terms is of like or unlike terms. (i) 1, 100 (ii)

7X, D'1"\frac{5}{2}x°

Watch Video Solution


https://dl.doubtnut.com/l/_bUEwtBhwbUqb
https://dl.doubtnut.com/l/_QbGxb4UNTrKw
https://dl.doubtnut.com/l/_9OwfbLgWQoot
https://dl.doubtnut.com/l/_h93F87H9p9Sd

55. State whether a given pair of terms is of like or unlike terms. (i) 1, 100 (ii)

7X, jb"\fra c{5}{2}x°

Watch Video Solution

56. State whether a given pair of terms is of like or unlike terms. (i) 1, 100 (ii)

7X, |":"\frac{s}{Z}xo

Watch Video Solution

57.State whether a given pair of terms is of like or unlike terms.

4m?p, 4mp*

° Watch Video Solution

58. State whether a given pair of terms is of like or unlike terms.

1222, 122222

° Watch Video Solution



https://dl.doubtnut.com/l/_h93F87H9p9Sd
https://dl.doubtnut.com/l/_6kX8jcdIf6Mm
https://dl.doubtnut.com/l/_TElrBQ17HBYK
https://dl.doubtnut.com/l/_RW1Ouqqg5F4R
https://dl.doubtnut.com/l/_0TZbQAZWedk0

59. Identify like terms in the following: (a)

hu'
“xfy" 2L 0rm{ B-{\rm{ B4y{x 2}L0rm{ }8{x"2},{\rm{ }2x{y"2},{0\rm{ }7y,{\rm{
B=0rm{ J11{x*2}L{0\rm{ }-(\rm{ }100x,{\rm{ P-{\rm{ J}11yx,{\rm{ }}20{x"2}</p>

<div class=

>

Watch Video Solution

60. Identify like terms in the following: (a)

Ey
l""“--x{y“Z},{\rm{ B-0\rm{ B4y{x"2},(\rm{ }8{x"2},{\rm{ }2x{y"2},(\rm{ }7y{\rm{
B0 rm{ 311{x* 210 rm{ B}-{\rm{ }}100x,(\rm{ }--{\rm{ }11yx,{\rm{ }}20{x"2}</p>

<div class=

>

Watch Video Solution

Ncert Section Exercise 11 2



https://dl.doubtnut.com/l/_0TZbQAZWedk0
https://dl.doubtnut.com/l/_oqvcOtsvzEPq
https://dl.doubtnut.com/l/_KtxFOH6k5sop

1. Simplify combining like terms:

21b — 32 4 7b — 20b

o Watch Video Solution

2. Simplify combining like terms:

— 22 +1322 — 5z + 72% — 152

o Watch Video Solution

3. Simplify combining like terms:

p—(p—q9 —q-(¢—p

o Watch Video Solution

4. Simplify combining like terms:

3a—2b—ab—(a—b+ab) +3ab+b—a



https://dl.doubtnut.com/l/_bQyoit3ptbyu
https://dl.doubtnut.com/l/_kTlpY1RRWSh6
https://dl.doubtnut.com/l/_H8JmwKstTYfa
https://dl.doubtnut.com/l/_ue1V8O1MrY2N

| & Watch Video Solution

5. Simplify combining like terms:

5:132y — 5z? + 3y:132 — 3y2 + 2% — y2 + 8ar:y2 — 3y2

o Watch Video Solution

6. Simplify combining like terms:

(3y° + 5y —4) — (8y —y* — 4)

o Watch Video Solution

7.Add :
(i) 3mn — bmn, 8mn — 4mn

(i)t — 8tz, 3tz — z,z — t

o Watch Video Solution



https://dl.doubtnut.com/l/_ue1V8O1MrY2N
https://dl.doubtnut.com/l/_gsH5eaWVRE6R
https://dl.doubtnut.com/l/_B576XnK9AqMl
https://dl.doubtnut.com/l/_wFFSb7fyxw9a
https://dl.doubtnut.com/l/_mcQN3el6HoW6

8. Add: (i) Q3mn,{\rm{ B-0\rm{ }}5mn,{\rm{ }}8mn,{\rm{ }}--{\rm{ }}4mn°

Watch Video Solution

9. Add:

—T™mn + 5,12mn + 2, 9mn — 8, — 2mn — 3

o Watch Video Solution

10. Add:

a+b—3,b—a+3,a—b+3

o Watch Video Solution

11. Add :

14z 4+ 10y — 122y — 13, 18 — 7z — 10y + 8zy, 4zy

o Watch Video Solution



https://dl.doubtnut.com/l/_mcQN3el6HoW6
https://dl.doubtnut.com/l/_hYzTRuRkMMbZ
https://dl.doubtnut.com/l/_IOxO4CmfrYaY
https://dl.doubtnut.com/l/_rItRxKH1MJSS

12. Add:

5m — T, 3n —4m + 2,2m — 3mm — 5

o Watch Video Solution

13.Add :

4z%y, — 3zy?, — bxy?, Sty

o Watch Video Solution

14. Add :

3p’q> — 4pg + 5, — 10p*¢%, 15 + 9pq + Tp*q°

o Watch Video Solution

15. Add:

ab — 4a, 4b — ab, 4a — 4b



https://dl.doubtnut.com/l/_Bx85cP9zEp9r
https://dl.doubtnut.com/l/_jO9YeQhjgxxL
https://dl.doubtnut.com/l/_9pTSA8JebglZ
https://dl.doubtnut.com/l/_sEd9vZ4Fg81f

| & Watch Video Solution

16. Add:

:Izzyz—l,yz—1—:1:2,1—2132—y2

o Watch Video Solution

17. Subtract:

5y2 from y2

o Watch Video Solution

18. Subtract:

6zy from —12zy

o Watch Video Solution



https://dl.doubtnut.com/l/_sEd9vZ4Fg81f
https://dl.doubtnut.com/l/_CcrTPXCobMdG
https://dl.doubtnut.com/l/_UvNPJtRzPlPv
https://dl.doubtnut.com/l/_3LeXqxOLKjz6

19. Subtract:

(a — b) from (a + b)

o Watch Video Solution

20. Subtract:

a(b — 5) fromb(5 — a)

o Watch Video Solution

21. Subtract:

—m? + 5mn from 4m? — 3mn + 8

o Watch Video Solution

22, Subtract:

— 22 + 10z — 5from5z — 10



https://dl.doubtnut.com/l/_gUfk6zcNlK0J
https://dl.doubtnut.com/l/_BLOJOOgOR2LT
https://dl.doubtnut.com/l/_3vd2f1pLs76o
https://dl.doubtnut.com/l/_iGnjkoxzrGrA

| &J Watch Video Solution

23. Subtract:

5a%2 — 7ab + 5b*from3ab — 2a% — 2b°

o Watch Video Solution

24, Subtract:

4dpq — 5a’ — 3p2from5p2 + 3q2 — g

o Watch Video Solution

25. (a) What should be added to Q{x’\2} +xy + {y"2}

o Watch Video Solution

26. What should be subtracted from 2a + 8b 4 10 to get —3a + 7b 4 16?

Y.


https://dl.doubtnut.com/l/_iGnjkoxzrGrA
https://dl.doubtnut.com/l/_7bpoWtTsnY46
https://dl.doubtnut.com/l/_lsDgHBSJCcDk
https://dl.doubtnut.com/l/_vFHOrMdIacQE
https://dl.doubtnut.com/l/_sUgGT3lXvkL6

| ¥ Vvatch Video Solution J

27. What should be taken away from

Q3{x’\2}--{\rm{ Ba{y"2} + {\rm{ }}5xy + {\rm{ }}20°

Watch Video Solution

Q3x--y + {\rm{ }}110

28.(a) From the sum of

Watch Video Solution

29. From the sum of 4+ 3z and 5 — 4z + 2x2 subtract the sum of

322 —5zand —z2 +22 + 5

° Watch Video Solution

Ncert Section Exercise 11 3



https://dl.doubtnut.com/l/_sUgGT3lXvkL6
https://dl.doubtnut.com/l/_3RHqglqejM7I
https://dl.doubtnut.com/l/_OoNDrbl9QkoI
https://dl.doubtnut.com/l/_rvWzp5UWkBGw

1.1f m = 2, find the value of :

m — 2

o Watch Video Solution

&2

2.1f “m={\rm{}}2

o Watch Video Solution

3.If Qm ={\rm{ }}2

° Watch Video Solution

4. If m=2, find the value of (i)m — 2 (i))3m — 5 (iii)9 — 5m (iv)3m? — 2m — 7

° Watch Video Solution



https://dl.doubtnut.com/l/_OjnAeOiWijat
https://dl.doubtnut.com/l/_1uOSY6Mo74aP
https://dl.doubtnut.com/l/_98KQRLPCMP9W
https://dl.doubtnut.com/l/_B4ANSSIR8jCP

5.1f m =2, find the value of :

bm
— -4
2

° Watch Video Solution

&2

6.1f " “p = {\rm{ }}--{\rm{ }}20

Watch Video Solution

[

7.1 7 p = (\rm{ }-{\rm{ }}2°

Watch Video Solution

o

8.1f ““p = {\rm{ }}--{\rm{ }}20

Watch Video Solution

9. Find the value of the following expressions, when Qx = {\rm{ }}--1

° Watch Video Solution



https://dl.doubtnut.com/l/_zpkHL4qpKJu4
https://dl.doubtnut.com/l/_Txrhi059ZJHK
https://dl.doubtnut.com/l/_tFsApCtJad29
https://dl.doubtnut.com/l/_kpQHLrTVksSI
https://dl.doubtnut.com/l/_ySl4FBAnNPoz

10. Find the value of the following expressions, when Qx ={\rm{ }}-1

° Watch Video Solution

11. Find the value of the following expressions, when Qx = {\rm{ }}--1

° Watch Video Solution

12. Find the value of the following expressions, when Qx ={\rm{ }}-1

° Watch Video Solution

13.Ifa = 2,b = — 2,then find the value of :

a’ + b

° Watch Video Solution



https://dl.doubtnut.com/l/_ySl4FBAnNPoz
https://dl.doubtnut.com/l/_UJgWxvI0s9qM
https://dl.doubtnut.com/l/_FHDkhzjcDQYK
https://dl.doubtnut.com/l/_YA7hAIczOoSe
https://dl.doubtnut.com/l/_UVwR0ctmKJer
https://dl.doubtnut.com/l/_ZggM2knjHcA0

14.1fa = 2,b = — 2,then find the value of :

a’® + ab + b

° Watch Video Solution

e

15. If ja ={\rm{ }}2,b = {\rm{ }}--{\rm{ }}Zo

Watch Video Solution

L&

16. When ja = {\rm{ }}0,b = {\rm{ }-{\rm{ }}1°

Watch Video Solution

17. When l"'ja ={\rm{ }}0,b = {\rm{ }}--{\rm{ }}10

Watch Video Solution

18. When L"'ja ={\rm{ }}0,b = {\rm{ }--{\rm{ }}10

Watch Video Solution


https://dl.doubtnut.com/l/_ZggM2knjHcA0
https://dl.doubtnut.com/l/_KVDqknHtWqCe
https://dl.doubtnut.com/l/_D4axeNhW3oOD
https://dl.doubtnut.com/l/_JjXZpmPmgO9I
https://dl.doubtnut.com/l/_lc7ojBZTjVB4

19. When |'ja ={\rm{ }}0,b = {\rm{ }}--{\rm{ }}1°

Watch Video Solution

20. Simplify the expressions and find the value if x is equal to 2 (i)

& (» )
x+ (rm{70rm{ 3} + {\rm{ 34 {\rm{ Ileft( {x~{\rm{ }}5} \right)

Watch Video Solution

21. Simplify the expressions and find the value, if x is equal to 2

3(x+2)+5x—7

° Watch Video Solution

22.Simplify the expressions and find the value, if x is equal to 2

6z + 5(x — 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_P9pUgzjKzvHD
https://dl.doubtnut.com/l/_t215bEUQJxRi
https://dl.doubtnut.com/l/_vtErC5TkUGKp
https://dl.doubtnut.com/l/_uGiVvsEg5nYO

23. Simplify the expressions and find the value, if x is equal to 2

4(2¢ — 1) + 3z + 11

° Watch Video Solution

24.find the value of expressions if x is equal to 7,

5z — 10 — 2z 415

° Watch Video Solution

25. Simplify these expressions and find their values if = =3,.

2—-8z+4x +4

° Watch Video Solution

26. Simplify these expressions and find their values if

r=3a= —-1b= —2


https://dl.doubtnut.com/l/_QNgw4KHWWP5d
https://dl.doubtnut.com/l/_Ofc6TO4GpNAo
https://dl.doubtnut.com/l/_xKNEAAavdJGf
https://dl.doubtnut.com/l/_pDMVgJZ7lNp6

3a+5—8a+1

° Watch Video Solution

27. Simplify  these expressions and find their values if
r=3a= —-1b= —2
10-3b—4—-15b
° Watch Video Solution
28. Simplify these expressions and find their values if

r=3,a= —1,b= —2.

20 —2b—4—-5+a

° Watch Video Solution

29.If z = 10. find the value of z* — 3(z — 10).

° Watch Video Solution



https://dl.doubtnut.com/l/_pDMVgJZ7lNp6
https://dl.doubtnut.com/l/_tx9hpC6f66Kq
https://dl.doubtnut.com/l/_D7B5RsZm6QxN
https://dl.doubtnut.com/l/_Z5GYKqJbW5br

30.if p = — 10.find the value of p?> — 2p — 100.

° Watch Video Solution

31. What should be the value of a if the value of 102> — a equals to 9, when

x=07?

° Watch Video Solution

32.Simplify the expression and find its value whena=3 and b =1.

2(a2 + ab) + 3 — ab

° Watch Video Solution

Ncert Section Exercise 11 4



https://dl.doubtnut.com/l/_Z5GYKqJbW5br
https://dl.doubtnut.com/l/_APPk3Kqpyje9
https://dl.doubtnut.com/l/_BVXvpm4bkHiC
https://dl.doubtnut.com/l/_KIe0TSaBwcxp

1. Observe the patterns of digits made from line segments of equal length.

You will find such segmented digits on the display of electronic watches or

calculators.
I I
@ = T T
B 11 16
|| Ll
(b) i Lo ||
4 7 10
| R
© = T
7 12 17

21...

13...

22...

(5m + 1)...

(31 + 1)...

(5m+ 2)...

If the number of digits formed is taken to be n, the number of segments

required to form n digits is given by the algebraic expression appearing on

the right of each pattern. How many segments are required to form 5, 10,

100 digits of the kind

o Watch Video Solution



https://dl.doubtnut.com/l/_6AdwihJTzHdX

2. Use the given algebraic expression to complete the table of number

patterns.
= o Terms
N 1t | gnd [ 3a [ g [ g w | 200 [ - | 100% | .. I
1. -1 1 3 5 7 19 - = |
2, n+2 5 8 11 14 = - - . = —
3. dn+1 5 9 13 17 - — - - - -
4. Tn+20 27 34 41 48 — — - = = =
| 5. n+1 2 | & 10 17 — = - — | 10001 | —

o Watch Video Solution

Exercise Multiple Choice Question Level 1

1. Latika is 6m years old. She is thrice as old as her sister. What will be their

total age after six years?

A. (8m + 12) years

B.(8m + 6) years

C.(6bm + 6) years

D. (5m + 10) years


https://dl.doubtnut.com/l/_6AdwihJTzHdX
https://dl.doubtnut.com/l/_WrqAGHL1pY6X
https://dl.doubtnut.com/l/_SC1wbiFEVh32

Answer: A

° Watch Video Solution

2.Simplify : 4k — 3k*> — 5k + 6

AK+Ek+4
B.—3k>—k+6
C.3k> — 9k + 4

D.3k*> — 9k — 4

Answer: B

° Watch Video Solution

2
3. Find the value of % — 25 when c=12.

A. 24


https://dl.doubtnut.com/l/_SC1wbiFEVh32
https://dl.doubtnut.com/l/_AlF4M1wFokiA
https://dl.doubtnut.com/l/_LegFWaiY1XCy

B. 71

C.29

D.35

Answer: B

o Watch Video Solution

2

8
4.Find the value of % — 29+ 7 when g=3

A.9
B. 25
C.17

D. 26

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LegFWaiY1XCy
https://dl.doubtnut.com/l/_ft7p9CKHk2DV
https://dl.doubtnut.com/l/_kwyKVy8pZGXx

5. Kiran spent Rs 6z on a book, Rs 6 on food and had Rs 18 left. What was

the sum of money she had at first? Express your answer in terms of z.

A.Rs (6x +18)

B.Rs (6x + 24)

C.Rs 64 x

D. Rs 24x

Answer: B

o Watch Video Solution

6. Beena bought m pencils at n paise each. How much change did she get

back, if she paid Rs 20 ?

AR (20 m")
P s 100

B.Rs (2-m-n)

C.Rs (200-m~-n)


https://dl.doubtnut.com/l/_kwyKVy8pZGXx
https://dl.doubtnut.com/l/_vsN5oWsPBemK

mn
D. Rs (200 _ W)

Answer: A

° Watch Video Solution

7.The sum of 3p’¢® — 5pg + 4 and 7 + Tpg — 2p°¢? is equal to

A p*q® — 2pg + 11

2 2
B.—p"q” + 2pg + 11
C.—p’q® — 2pg + 11

D.p’q® + 2pgq + 11

Answer: D

o Watch Video Solution

8.Subtracting 3zy + 5yz — 7zx from Szy — 2zx + 10xyz, we get


https://dl.doubtnut.com/l/_vsN5oWsPBemK
https://dl.doubtnut.com/l/_G9OUSLMbYcrj
https://dl.doubtnut.com/l/_T5M2T7vs1CtQ

A 2zy — 5yz + bzz + 10xyz

B.2zy + 5yz — bzz + 10zyz

C.2zy + 5yz + 5z — 10zyz

D.2zy + 5yz + 5zx — 10xyz

Answer: A

° Watch Video Solution

9.The sum of —2xy and — 5zy is equal to

A —Txy

B. —3zy

C. 7xy

D. 3xy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_T5M2T7vs1CtQ
https://dl.doubtnut.com/l/_gXeFtWNSH5l8

10.The sum of —a and — a? subtracted from a® gives

Answer: D

° Watch Video Solution

11. If the sides of a triangle are 3p, 4p - 2 and 5p + 1. Find the perimeter of

the triangle.

A.9p -3

B.7p -1

C.12p -1


https://dl.doubtnut.com/l/_gXeFtWNSH5l8
https://dl.doubtnut.com/l/_0giL7YZU8UeH
https://dl.doubtnut.com/l/_bMPmxjxD5aUC

D.8p-3

Answer: C

° Watch Video Solution

12. If the perimeter of a triangle is 8z — 7 and two sides are 3z 4 5 and

2x — 3, find the third side.

A.7x-9

B.3x-6

C.6x-7

D.3x-9

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bMPmxjxD5aUC
https://dl.doubtnut.com/l/_5jflZQ3C5HzT

13. What should be added to — 6y + 3z toget — 3y* + ba?

A 3y* + 4z
B.3y® + 2z
C.2z% + 3y

D.4z? + 2y

Answer: B

o Watch Video Solution

14. The number of bacteria in a culture is £ now. It becomes square of itself
after one week. What will be its number after two weeks?

A 2x +1

B.3x+ 2

C.2x+ 2

D.2x+3


https://dl.doubtnut.com/l/_qzj1QyoFFMIk
https://dl.doubtnut.com/l/_DUY7QRIJkSmB

Answer: C

° Watch Video Solution

15. The area of a rectangle is given by the product of its length and breadth.
the length of a rectangle is two-third of its breadth. Find its area if its

breadth is z cm.-

A 3z? cm2
T2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DUY7QRIJkSmB
https://dl.doubtnut.com/l/_z3eNDHTqlNFQ

16. If there are x rows of chairs and each row contains 3x chairs. Determine

the total number of chairs.

A 3>

B. 22°

Answer: A

o Watch Video Solution

3 4 1 12 3 2
17. Subtract : Emzy + 5V~ ngyz from ?x2yz —FrYz + §m2y-

LA, 5, 3 4
B 5 o 3 +41 2, 4
C4 2 5:02 3:12 z—|—4
=L Yz — — - — —
5 Y 6 Yy 4 Y 7y

D 41{E22—|—5{E2 —1—4:10 z+3
T YET T YT FrET FY



https://dl.doubtnut.com/l/_Xmad4TvYI06q
https://dl.doubtnut.com/l/_WCfAaoKtaA2f

Answer: A

° Watch Video Solution

9 3
18. Take away 3 + z + —z?

5
A.Zaz3+%a:2+gx—1
4 4 2

2
B. — — — 1
5:(: +41: + 5:c+

Answer: C

° Watch Video Solution

19. Add the following algebraic expressions and then find value at y =1
2y  5y® 5yt 4

20>y
3 3 ' 27 3" 3 2


https://dl.doubtnut.com/l/_WCfAaoKtaA2f
https://dl.doubtnut.com/l/_KaBphEfoOmhC
https://dl.doubtnut.com/l/_EZ4va2vvJZQb

Answer: A

o Watch Video Solution

20. A series of towers consist of cuboids of same size as shown below. The

shaded cuboids represent the vertical height of each tower.

Find the number of cuboids needed to form the vertical height of Tower

2345.



https://dl.doubtnut.com/l/_EZ4va2vvJZQb
https://dl.doubtnut.com/l/_wzzFLy7vx2m0

A. 2348

B. 2344

C. 2346

D. 2345

Answer: C

o Watch Video Solution

21. The score of Ishita in Mathematics is 25 more than the two third of her
score in Science. If she scored £ marks in Science, determine her score in

Mathematics.

A 3 25
.2:1:+

82—1-25
-3 x

C2 25
.3.’L’+

D3+25
& x


https://dl.doubtnut.com/l/_wzzFLy7vx2m0
https://dl.doubtnut.com/l/_oWzidb6eLJ7Y

Answer: C

° Watch Video Solution

22. John covers x centimetres in one step. How many centimetres does he

cover in 9 steps?

A x
"9
B. 9x

C.18x

D.x+9

Answer: B

° Watch Video Solution

23.Simplify : 4s°t — 5st® — Ts’t — 3s°t* + 3st” + 357t — ( — 2st?)


https://dl.doubtnut.com/l/_oWzidb6eLJ7Y
https://dl.doubtnut.com/l/_aeZvmgJX0l8r
https://dl.doubtnut.com/l/_ohcbXbRm95Wg

A.O

B. — 3st?

C.3s%t

D. — 3s%¢t2

Answer: D

° Watch Video Solution

24. Simplify :

a’b — a’b® + 4426 — 2a°1?

A 3a%b°

B. — 3a°b

C. — 3a’b?

D.O

Answer: A

— a’b + 2a°V?



https://dl.doubtnut.com/l/_ohcbXbRm95Wg
https://dl.doubtnut.com/l/_nhGy5DOfImcY

| ° Watch Video Solution

25. Subtract (2a - 3b + 4c) from the sum of (a + 3b - 4c¢), (4a - b +9¢) and (-2b

+3c-a)

A.3a+2b + 4c

B.2a-2b + 4c

C.3a-4b-2c

D.2a + 3b + 4c

Answer: D

° Watch Video Solution

26.If a=1and b = (-3), the value of 4a3*> — 3a2b + 4ab® — abis


https://dl.doubtnut.com/l/_nhGy5DOfImcY
https://dl.doubtnut.com/l/_7QFfzxWueHd0
https://dl.doubtnut.com/l/_BYfLo1y2x1ES

Answer: B

o Watch Video Solution

27. From the sum fo 5a?b — Tab+ 10 and — 3a®b + 3ab — 4, subtract
6ab + 15.

A.2a%b + 2ab— 9

B.2a%b — 4ab + 6

C.2a%b — 10ab — 9

D.5a’b — 2ab — 9

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BYfLo1y2x1ES
https://dl.doubtnut.com/l/_mswHm7mYG8R2
https://dl.doubtnut.com/l/_Gf0a1HBKiykF

28. How much larger is 1322 — 7y? than 622 — 9y??

A Tz — 2y°
B. 72* + 2y°
C.62% — 3y2

D. 622 + 3y?

Answer: B

o Watch Video Solution

29. A pipe is (7x -3) metres long. A length of (5x - 7) metres is cut for use.

How much pipe (in metres) is left?

A2z +4

B.—2x + 7

C.3x+2

D.2x + 1


https://dl.doubtnut.com/l/_Gf0a1HBKiykF
https://dl.doubtnut.com/l/_fAWbtZAqWQYR

Answer: A

° Watch Video Solution

30.1f x =3,and y = 4, find the value of yia? + Tx?y? — 3zy + 7.

A. 461
B. 1627
C. 1555

D. 389

Answer: C

° Watch Video Solution

31.The sum of 2® + z? — 2z, 5z — 222 + 72® and 8z? — 10z + 1023 is

A 1823 + 722 — Tz


https://dl.doubtnut.com/l/_fAWbtZAqWQYR
https://dl.doubtnut.com/l/_z5i8SkPwfWlv
https://dl.doubtnut.com/l/_qBgQS8w3kekW

B.11z° — 1022 — 5z

C.18z% — 1322 — Tz

D.10z3 — 11z — 5z

Answer: A

° Watch Video Solution

32.The coefficient of y? in — 63z3y%zis

B. — 63z
C.63z°2

D. — 63y>

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qBgQS8w3kekW
https://dl.doubtnut.com/l/_MNUkZs5Qwb6s
https://dl.doubtnut.com/l/_8QgCoFTu6hyx

7 -2 3
33, Subtract 3y* — 2zy — —z? from Ty2 — —xy + 4>

2
11 1 1
3V T T
Bl 2Jr7 +11 9
3Y Tt
C—ll 9 1 15 ,
D—l 2+7 +15 5
T3 Y TRt
Answer: C

o Watch Video Solution

34.The length of rectangle is (7x - 3y) units and its breadth is (3x + 4y) units.

The perimeter of the rectangle is

A. (13x + 5y) units
B. (17x - 2y) units
C. (20x + 2y) units

D. (10x +y) units



https://dl.doubtnut.com/l/_8QgCoFTu6hyx
https://dl.doubtnut.com/l/_pCDnfaHOBWyW

Answer: C

o Watch Video Solution

35. The value of m, if the value of 322 +z —mis equal to 7, when x =-1is

A —5

B.8

Answer: A

o Watch Video Solution

Exercise Multiple Choice Question Level 2


https://dl.doubtnut.com/l/_pCDnfaHOBWyW
https://dl.doubtnut.com/l/_3wI0UEKL4x5k

1. Tanmay had Rs. 56. He spent Rs x on transport and Rs 2 y on lunch. He
spent the remaining amount to buy 3 similar books. What was the cost of
the each book?

A.Rs (56 - x + 2y)

B.Rs (56 - x - 2y)

5 — x + 2
O T N
3
56 —x — 2
D.Rs—— 2 %Y
3
Answer: D

° Watch Video Solution

, Figure | Figure 2 Figure 3

Based upon the pattern above, how many unshaded squares will Figure 9


https://dl.doubtnut.com/l/_sDq9qZ4O02rm
https://dl.doubtnut.com/l/_biwKfajvRupH

have?

A.100

B. 49

C.64

D. 81

Answer: D

° Watch Video Solution

3. Rohan spends Rs x daily and saves Rs y per week. What is his income after

3 weeks?

A.Rs (21x + 3y)

B.Rs (23x + 9y)

C.Rs (21x + 9y)

D. Rs (7x +3y)


https://dl.doubtnut.com/l/_biwKfajvRupH
https://dl.doubtnut.com/l/_WGbyiW8vrfl0

Answer: A

° Watch Video Solution

4. Ahmed starts from Delhi at 8 AM to Jaipur. If his car is running at the
speed of x km /hr and at 1PM he observes that he is 20km away from
Jaipur. Find the distance between Delhi and Jaipur.

A. (4x + 20) km

B. (4x + 25) km

C. (5x+ 25) km

D. (5x + 20) km

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WGbyiW8vrfl0
https://dl.doubtnut.com/l/_SB9wcTOpxL8c

5.Subtract the sum of (8m + 7n + 6p®) and ( — 3m — 4n — p®) from the
sum of (2m + 4n — 3p®) and ( — m — n — p).

A.4m + 9p*

B.4m — 6n + 9p

C. —4m + 6n — 9p*

D.4m — 9p?

Answer: A

o Watch Video Solution

6. The perimeter of a triangle is (7x - 15) cm. The two sides are (3x - 3) cm and
(2z — 2)cm. Find the third side.

A.3x-13

B.2x-10

C.2x-15


https://dl.doubtnut.com/l/_yhfvEvEPOHmk
https://dl.doubtnut.com/l/_0cnIzXMmf1wW

D.3x-15

Answer: B

° Watch Video Solution

7.fA=192> —2 4+ 6, B = 2> — z, C = 4z — 1, find A-B+C.

Al17z> — b5z + 7
B.18z% +4x — 5
C.24x> — 4z + 7

D.18z%2 + 4z + 5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0cnIzXMmf1wW
https://dl.doubtnut.com/l/_XO9CFF2Sz7Au

8. Distance covered by a man 3 times around a square park having side 3x

2a+5is

A. 9x -6a +15

B.12x-4a+ 20

C.36x -24a + 60

D. None of these

Answer: C

° Watch Video Solution

9.fP=m?>—-n%,Q=n+m,R=2m+2n+m? then P+2Q-Ris

equal to


https://dl.doubtnut.com/l/_MhskcZzJK08M
https://dl.doubtnut.com/l/_HTZwjI7gn8YE

Answer: D

° Watch Video Solution

10. The HCF. of 14z3y? and 21y32%is

A. 7xyz

B. Ty

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HTZwjI7gn8YE
https://dl.doubtnut.com/l/_RssgaanvHlBu

11. Somya bought 2 toy cars for Rs (4x + 3y) each and 1 book for Rs (7x - 3y).

What is the total money spent by her?

A. 11X + 6y

B.15 x + 3y

C.3x-6y

D.3x + 6y

Answer: B

o Watch Video Solution

12. Simplify the expression : 5m’n? — 3n® + 6m? — (9’n2 + 2m2n2) and
find its value when m=-2 and n = 4.

A.192

B. 96

C. 240


https://dl.doubtnut.com/l/_uT0XtpG3iYOP
https://dl.doubtnut.com/l/_sLGT84Ajxeca

D.24

Answer: D

° Watch Video Solution

13. Sameeksha had Rs (58:132 + 6z — 3) with her. She spent Rs
(19x2 — 2x — 1) out of it. What amount (in Rs) is left with her?

A 4522 + 4z — 2

B.39z2 + 8z — 2

C.77z% + 4z — 4

D.39z% + 4z — 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sLGT84Ajxeca
https://dl.doubtnut.com/l/_kLnIhiKRWmSD

14.The base of an isosceles triangle is 3a - 2 units and the two equal sides in

5a + 3 units. The perimeter of the triangle is

A. 11a - 1 units

B. 8a + 1 units

C.13a + 4 units

D. 4a -5 units

Answer: C

o Watch Video Solution

15. The sun of 8223?23, 122223y? and 15z%y%23 is

A. 24x3y? 23
B. 360z3y%2®
C. 1803:33/3,23

D. 35z2y?23


https://dl.doubtnut.com/l/_KdwtsViZqwtw
https://dl.doubtnut.com/l/_p8v7POH8szbJ

Answer: D

° Watch Video Solution

Exercise Matching

1. Match the following:
List-I

(P) Add ¢+ 8¢ - 742 + 12 (1)
and -32% + 1022 + 8

(Q) Subtract 2x%y+4x7 4307 (2)
from 5x%y + Zay?

(R) Subtract2x+2xi—4x—4 (3)
fromx®-xi-x-2

(S) Addr¥*-x?-x-2 (4)
and 2v? - 2v3 + 4v — 4

A.P-3,0-2,R-1,5-4
B. P-2, Q-4,R-1,5-2

C.P-2,0-4,R-3,5-1

List-11

R
Jx + 2
—xt 4 x4+ 3y

-6

v7+ 5t + 3
+ 20



https://dl.doubtnut.com/l/_p8v7POH8szbJ
https://dl.doubtnut.com/l/_fhnnkvCmtq7S

D. P-2, Q-3, R-4, S-1

Answer: B

° Watch Video Solution

2. Match the value of given expressions.

List-1 List-11
(P) (x2+5)(x*+3)+5 (1) 0
at x =12
(Q) 2x'+ 2x* —4x -4 (2) 104
atx=-2
(R) [_—m.n,f‘]x[?ﬂu] (3) 13
3 3
atx =5 y=3
(5) x¥}-xl-x-2 (4) —4
atx =3

A. P-3, Q-2, R4, S-1

B. P-2,0Q-3,R-1,5-4

C.P-2,0-4,R-1,S-3


https://dl.doubtnut.com/l/_fhnnkvCmtq7S
https://dl.doubtnut.com/l/_YsDIGmnVTjrC

D. P-3, Q-1,R4,S-2

Answer: C

° Watch Video Solution

Exercise Assertion And Reason

1. Assertion : 10pg® — 7¢*2pq — 4¢*p* + 3is an algebraic expression.

Reason : Algebraic expressions are formed from variables and constants. We

use the operations of addition, subtraction, multiplication and division on

the variables and constants to form expressions.

A.If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.


https://dl.doubtnut.com/l/_YsDIGmnVTjrC
https://dl.doubtnut.com/l/_jRS5h9htZnMq

D. If assertion is false but reason is true.

Answer: A

o Watch Video Solution

2. Assertion : In algebraic expression
2 2 2 2 2 2
2y° + 3yz —y° —yz + 2° — zyz, 2y°, 3yz, ¥y, yz, 2~ and xyz are terms of
expression.
Reason : Expressions are made up of terms. Terms are added to make an
expression.
A.If both assertion and reason are true and reason is the correct
explanation of assertion.
B. If both assertion and reason are true and reason is not the correct
explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.


https://dl.doubtnut.com/l/_jRS5h9htZnMq
https://dl.doubtnut.com/l/_y6mVHONNnIO8

Answer: D

o Watch Video Solution

3. Assertion : In 10zy, — Ty, — 833,:1:23/2, 100y2, — 12a:2y2, 5z2, 3y like
terms are —7y and 3y, z%y? and — 12z%y%
Reason : Terms which have the same algebraic factors are like terms.
A.If both assertion and reason are true and reason is the correct
explanation of assertion.
B. If both assertion and reason are true and reason is not the correct
explanation of assertion.
C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_y6mVHONNnIO8
https://dl.doubtnut.com/l/_TJdhJEm6nuXC

4.Thevalue of 192 — 522 for z = — 2is

° Watch Video Solution

5. Assertion : Expression zy — x — y + 4 is a polynomial.

Reason : Any expression with one or more terms is called a monomial.

A.If both assertion and reason are true and reason is the correct

explanation of assertion.

B. If both assertion and reason are true and reason is not the correct

explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MYMS5s8fFnb4
https://dl.doubtnut.com/l/_yIHiYT0IXTmB

Exercise Comprehension Passage |

1. We have a rectangle of length | and breath b. The length of the rectangle

is increased by 5 units, i.e, (I+5) units and breath is decreased by 3 units, i.e.,

(b — 3) units.
A I
|, H F
i -3
[V e | i G

From above answer the following questions :
What is the perimeter of rectangle DEHC?

A. (31 4 2b + 6) units

B. (2l + 2b — 6) units

C. (3l — 2b — 6) units

D. (2] — 3b — 15) units


https://dl.doubtnut.com/l/_xCSKoQDVrOLG

Answer: B

o Watch Video Solution

2. We have a rectangle of length | and breath b. The length of the rectangle
is increased by 5 units, i.e, (I+5) units and breath is decreased by 3 units, i.e.,
(b — 3) units.

A B

From above answer the following questions :

If length of rectangle DEFG is 2 times its breath then find the perimeter of

the rectangle DEFG.

A. (6b + 16) units

B. (2b + 18) units


https://dl.doubtnut.com/l/_xCSKoQDVrOLG
https://dl.doubtnut.com/l/_NIv9Wq3ssMjM

C. (6b — 18) units

D. (6] + 16) units

Answer: C

o Watch Video Solution

3. We have a rectangle of length | and breath b. The length of the rectangle

is increased by 5 units, i.e,, (I+5) units and breath is decreased by 3 units, i.e,,

(b — 3) units.
A i
[7 N
| .-------------til----'.
b $
k-3
vy
[V g [ i [

afp—+ 5 —

From above answer the following questions :

What is the perimeter of rectangle DEFG?

A. (2l + 2b + 4) units


https://dl.doubtnut.com/l/_NIv9Wq3ssMjM
https://dl.doubtnut.com/l/_aVyIYKea5Byw

B. (21 + 2b) units
C. (20 4 4b — 2) units

D. (2b 4 4l + 2) units

Answer: A

° Watch Video Solution

Exercise Comprehension Passage li

1. If a’b means a is added to
a=xz+z+1 and b= 2z%— 4z + 6y, find a*3b.
Allz? — Ty 419z — 1
B.7z% — 11z + Ty + 18
C.18z% — 7z + 11y + 1

D.7z% — 11z + 18y + 1


https://dl.doubtnut.com/l/_aVyIYKea5Byw
https://dl.doubtnut.com/l/_0lsbWsq55ZEz

Answer: D

° Watch Video Solution

2.If a*b means a is added to b,

a $ b means b is subtracted from a.
a # b means a is multiplied by b.

a & b means a is divided by b,

then answer the following questions :

Ifa = % +% and b= —Taz + %,thenﬁndaSb*a.
A.lx
2
B.Ex
2
C.iy
4
D.iy
8
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_0lsbWsq55ZEz
https://dl.doubtnut.com/l/_eKEsJCn2BDE6

3.If a*b means a is added to b,

a $ b means b is subtracted from a.

a # b means a is multiplied by b.

a & b means a is divided by b,

then answer the following questions :

Ifa =4z — Txy+ 3y + 12 and b= 12z — 9zy + 6y — 3,thenfind a $ b

# 3.

A —32z + 20xy — 15y + 21

B.32z + 4dzy —y — 12

C.—32x —zy+ 13

D. —3zy +x + 12

Answer: A

o Watch Video Solution

Exercise Very Short Answer Type



https://dl.doubtnut.com/l/_eKEsJCn2BDE6
https://dl.doubtnut.com/l/_VSd7qyEwEs6s

1. Find the coefficiednt of xy in the expression 2a:2y + 4dzy — 3yx.

o Watch Video Solution

2. Name the polynomial 42 + = — 1.

o Watch Video Solution

2 9 3 9
3. Are the terms ga: Yy, — =<

0
5Ty and — 22y like terms?

7

o Watch Video Solution

4. How many terms are there in a binomial?

o Watch Video Solution



https://dl.doubtnut.com/l/_mv5sVMbRREEn
https://dl.doubtnut.com/l/_ag0q3xh4v1re
https://dl.doubtnut.com/l/_IwXiey9CekyA
https://dl.doubtnut.com/l/_dNMM02dfczH9

5.0s T2 — 9z — 3( — 322 — 3z + 2) a monomial or a binomial?

o Watch Video Solution

6. What is the difference between binomial and monomial?

o Watch Video Solution

7.What is the coefficient of y % ( — 3x2)?

o Watch Video Solution

8. What is the constant term in the sum of (51:2 — 7z +4) and (7x — 8)?

o Watch Video Solution

9.1fa = 2,b = — 1, then find the value of a® + b% + 2ab


https://dl.doubtnut.com/l/_Jso209aHGyFN
https://dl.doubtnut.com/l/_dRcz3EqeJFjv
https://dl.doubtnut.com/l/_ZjyAQoIJz2wG
https://dl.doubtnut.com/l/_B7LkGGrwjf8J
https://dl.doubtnut.com/l/_GTvz7MKmEoec

° Watch Video Solution

10.1fA=32> + 2z — 7and B = Tz — 3z + 4, then find :

2A + 3B

° Watch Video Solution

Exercise Short Answer Type

1. Simplify : 3(41;2 — 5x) + 4(3x2 + 5$) and find the value for

=3

° Watch Video Solution

2.Simplify : 3(4322 — 5:1:) + 4(3$2 + 5:8) and find the value for
1

J,’:E

° Watch Video Solution



https://dl.doubtnut.com/l/_GTvz7MKmEoec
https://dl.doubtnut.com/l/_LyGBdg2naapj
https://dl.doubtnut.com/l/_70izAAs3ihiF
https://dl.doubtnut.com/l/_igfLK9R6WHHQ

3.Subtract 4( — ac + 4bc + c2) from 3(0,2 + ab+ ac) — 5(ab — v+ be).

° Watch Video Solution

4 3 16 9
4. Solve : simplify §m2 — an + 2mn — (?m2 + 1—6n2 + 2mn).

° Watch Video Solution

5. Subtract 4p*q + pg*® — 3pq + Tq — 8p — 10 from

5p%q — 2pg® + 5pg — 11g — 3p + 28.

° Watch Video Solution

6.Simplify : 4(a® + a® + a) — (5a + 3) and find its value for

a=0

° Watch Video Solution



https://dl.doubtnut.com/l/_igfLK9R6WHHQ
https://dl.doubtnut.com/l/_380wlPzdrwqq
https://dl.doubtnut.com/l/_CYTszoanBrUN
https://dl.doubtnut.com/l/_4cCo4340ePoi
https://dl.doubtnut.com/l/_UYWcjRg6MYov

7.simplify : 4(a® + a® 4+ a) — (5a + 3) and find its value for

a=1

° Watch Video Solution

8. The length and breath of a rectangle are (6z” — 2) units and (5z + 2)

units respectively. Find its perimeter.

° Watch Video Solution

9.Show that : (4pg + 3q) — (4pg — 3q) = 6q

° Watch Video Solution

10. Simplify : (152 — 4y) + (15z + 4y + 3) — 45z + 12y.

° Watch Video Solution



https://dl.doubtnut.com/l/_UYWcjRg6MYov
https://dl.doubtnut.com/l/_UC1wqKGnSCjy
https://dl.doubtnut.com/l/_NoAE2l2xk5Qe
https://dl.doubtnut.com/l/_N5ILpeT00SNA
https://dl.doubtnut.com/l/_e9DKpEmkQ7ty

1. Simplify : (a + 2b) + (a — 4b + 6¢) — (5a — 3b).

o Watch Video Solution

12. Subtract :

42> — 3z + 4 from 8z> — 5x — 8

o Watch Video Solution

13. Subtract :

2¢ — 3y + 4z from 10z + 4y — 8z.

o Watch Video Solution

Exercise Long Answer Type


https://dl.doubtnut.com/l/_dpDSC2PEPm1e
https://dl.doubtnut.com/l/_6sBnHzVvm081
https://dl.doubtnut.com/l/_oeQ9l8y6N4wg

7
1. Find the product of Esztands—kt- Verify the result for

1
s — §andt:5.

° Watch Video Solution

2. Add the following algebraic expressions:
2y 5y> 5y3 4 2> y 5y’ 9 6

2 - = - <z __Zz =z —

I s T M R A

° Watch Video Solution

3. simplify : 9z* + (2333 — 53:4) i (m4 — 3332) and find its value for

x=-2".

° Watch Video Solution

4.Simplify : (2z + 3y) — (3z + 4y) + (7z + 3y) + (= + 2y) and find value

forx =2,y=1.



https://dl.doubtnut.com/l/_IDhTyHHtrERJ
https://dl.doubtnut.com/l/_4IDRJyuPTDuB
https://dl.doubtnut.com/l/_CixElqPH2cjg
https://dl.doubtnut.com/l/_egxGwmWVulSx

| ) Watch Video Solution

5. Find the sum of 24(:1:2 — 2a:3) and - 3(333/2 + y3) and evaluate their

1
sumathE and y = 2.

° Watch Video Solution

Exercise Integer Numerical Value Type

1. Find the value of expression (4= — 3y)(4z + 3y + 5) — 4= + 12y when

x=2 and y=3.

o Watch Video Solution

-8 -3
2.Find the value of (Ta2b2c3> X (Tab2c) ata =

c=5.

° Watch Video Solution



https://dl.doubtnut.com/l/_egxGwmWVulSx
https://dl.doubtnut.com/l/_nC1cZ1qqm4y4
https://dl.doubtnut.com/l/_AvWEZd4HsEGS
https://dl.doubtnut.com/l/_Nw8PXCjOVR3R

3.Find the value of expression 6z° (22> — 1) at x=2.

° Watch Video Solution

1 2
4.How many terms are there in 3z — Ewa — gmgf — gy?

° Watch Video Solution

5.Subtract (2a:2 — bz + 7) from (3x2 + 4z — 6)

° Watch Video Solution

6. If the sum of (8:1&2 — 6x + 9) and ( — 1022 — 8z — 9) is subtracted

from — 3, then find the coefficient of x.

° Watch Video Solution



https://dl.doubtnut.com/l/_Nw8PXCjOVR3R
https://dl.doubtnut.com/l/_KbLfsqyniPGB
https://dl.doubtnut.com/l/_GJ1SBBqItgfT
https://dl.doubtnut.com/l/_1nHzOYd579Fz
https://dl.doubtnut.com/l/_Mr0lFXG1sPE0
https://dl.doubtnut.com/l/_xNtn5Bt7QXXT

7. Find the constant term on subtracting

—172* + (3z — 7) from 22° + (3z — 4z?).

° Watch Video Solution

8.Find he value of a® + ab®> + a®b + b> ata = — 1land b=2.

° Watch Video Solution

9. Find the products

_72 3 2 _633
(7)< (320) < (5

° Watch Video Solution

10. The sum of the values of the expression 2z> — 2z + 2 when x =-1and x =

1is

° Watch Video Solution



https://dl.doubtnut.com/l/_xNtn5Bt7QXXT
https://dl.doubtnut.com/l/_DYp8gSegGdTj
https://dl.doubtnut.com/l/_uTg6OZg1ip2K
https://dl.doubtnut.com/l/_Ebt5f6n02lB4

Olympiad Hots Corner

1. Find the cost of 3 notebooks and 1 magazine in terms of y, if the cost of 1
notebook is Rs 2y and that of 1 magazine is Rs (y + 3).

A.Rs (3y + 3)

B.Rs (6y + 3)

C.Rs (7y +3)

D.Rs (8y + 3)

Answer: C

° Watch Video Solution

3
2. Find the value of % — 21,whenc = — 2.

A —24

B.72


https://dl.doubtnut.com/l/_LicTXSzTrhL0
https://dl.doubtnut.com/l/_3Xjnt0hJQRSP

C.29

D.35

Answer: A

o Watch Video Solution

3. Find the value of
1
(—6) —(x—5)+40—-17(x — 2) at z = 7
A.73
B.—4
C.75
D.72
Answer: D

expression

° Watch Video Solution



https://dl.doubtnut.com/l/_3Xjnt0hJQRSP
https://dl.doubtnut.com/l/_qFTyH3UD5fe6
https://dl.doubtnut.com/l/_pExT4x5WHMGL

4. Simplify the given expression and find its value at

z= —44:2z —4) — (z +4) + 54+ (z — 5) — (z — 10).

A 4

B.8

D.3

Answer: D

o Watch Video Solution

5. The perimeter of a triangle is 5 — 3a + 7a* and two of its sides are
22> +3a — 2 and 3a® —a + 3.
Find the third side of the triangle.

A.4 — 5a + 2a>

B.—4 + 5a — 2a®


https://dl.doubtnut.com/l/_pExT4x5WHMGL
https://dl.doubtnut.com/l/_P1L95N4yqaJE

C.4 + 5a + 24>

D.5 — 4a — 2a>

Answer: A

o Watch Video Solution

6. By how much is —12z 4 2y greater

—18z 4+ 6y and 5z — 25y?

Az + 2ly

B.—z — 21y

C.z + 25y

D.z + 36y

Answer: A

than

the

sum

of

° Watch Video Solution



https://dl.doubtnut.com/l/_P1L95N4yqaJE
https://dl.doubtnut.com/l/_xCJB2NdcglXY
https://dl.doubtnut.com/l/_U6U81YX7MMAF

7. If
A = 9t® + 14zt — 32, B = 16zt + 42> — 5t* and C = — 7z® — 19zt — ¢
, Then find the value of B — A — C.

A. — 6t + 21zt + 142>

B. 6t> — 21xt — 14>

C. 142 + 15zt — 3t

D. 17z% + 21zt + 19¢>

Answer: A

o Watch Video Solution

8. Read the following statements carefully and select the correct option.
Statement-1 : Difference between the value of expression,
4z + 2(x +vy) when =z +2,y=3 andwhen z + 3,y + 2 is 10.
Statement-2 , 4(a + 2b) + 3b> +9ab should be subtracted from

2a — 2b + b* — 6ab toget — (2a + 10b + 8b° + 5ab).


https://dl.doubtnut.com/l/_U6U81YX7MMAF
https://dl.doubtnut.com/l/_gWzxIFQcSaO9

A. Statement-1 is true but Statement-2 os false.

B. Statemetn-1 is false but Statement-2 is true.

C. Both Statement-1 and Statemetn-2 are true.

D. Both Statement-1 and Statement-2 are false.

Answer: D

o View Text Solution

9.Find thesumof4z® — 322 +2z — 5 and — 7z° + 622 — = + 11.

A3xd -3z +z+6
B.—3z° +3z22 4+ 2 +6
C.32°+32>2 -2 —6

D.3z° —3z2 —z + 6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gWzxIFQcSaO9
https://dl.doubtnut.com/l/_QhcFzYUBaIbI

10. The cost of a book is Rs (8p + 4q) cost of a note book is Rs (5p — 2q)
and cost of a pen is Rs (2p — 2q). What is the total cost (in Rs) of all three
items?

A.15¢q

B. 15p + 2¢q

C.15p

D.15p - 2q

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_QhcFzYUBaIbI
https://dl.doubtnut.com/l/_V8XN4oNciILW

